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T £ L 5 = Hi
AMET—TH 215 221 212 433
AMHET—TH 368 396 420 816
EMET=TH 567 564 719 1,283
AMETETH 424 400 496 896
B S HET 371 409 483 892
RAFIET—T B 376 381 437 818
FBMETZ=TH 470 455 518 973
RERAMET=TH 661 568 663 1,231
EFET—THB 310 324 337 661
EMET=TH 271 276 302 578
EEET—THB 419 384 466 850
EEEZ=TH 474 438 515 953
FEE—TH 369 366 442 808
EERIZTH 327 311 349 660
E=E—TH 175 173 185 358
EEEZTH 331 324 371 695
ESE=TH 441 474 533 1,007
E=ETET B 401 421 468 889
BSHET—TH 305 293 322 615
BEETZ=TH 492 441 538 979
HEEI=TH 469 531 604 1,135
BEETETB 652 709 799 1,508
WERET—TH 328 326 336 662
WERETZTH 230 215 213 428
HEET=TH 383 343 326 669
WERETMTH 428 390 477 867
HEETETH 534 478 585 1,063
KFHT—TH 124 113 121 234
KXFHIZTH 369 340 388 728
KXFE=TH 194 175 198 373
fIEET—TH 357 344 365 709
HMERTZTH 407 414 475 889
FHRHEE—TH 163 139 179 318
FHREEZTH 206 175 204 379
FHKEE=TH 207 173 202 375
FREETUETH 104 91 91 182
FREEARTH 120 90 106 196
AEHT—TH 338 313 365 678
AET—TH 137 133 149 282
ABT=TH 243 227 234 461
=ET—TH 532 518 607 1,125
FRETZTH 734 642 704 1,346
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=AET—TH 356 320 346 666
=AET=TH 305 267 264 531
ZHET—TH 329 338 391 729
ZAETZ—TH 244 266 277 543
FIEET=TH 552 560 630 1,190
ZAETETH 489 467 527 994
KINRBT—TH 779 877 967 1,844
XIRETZTH 502 553 582 1,135
7R ET 2,423 2,849 2,983 5,832
NEET—TH 273 309 341 650
BT T B 57 58 66 124
X JIH#T 743 802 872 1,674
XRET—TH 808 880 941 1,821
XREEIZTHE 642 744 812 1,556
XRET=TH 715 850 909 1,759
XRETET B 451 475 546 1,021
FET—TH 660 670 605 1,275
EET—TH 887 952 1,008 1,960
BEET=TH 973 948 998 1,946
FETmTB 504 490 543 1,033
kAN HT 369 431 497 928
FHAERTERN) 28,087 28,604 31,609 60,213
FiESHET 676 784 848 1,632
1 SET 188 229 240 469
ST 459 604 566 1,170
HEET—TH 413 438 436 874
EBEET=TH 426 413 526 939
BHREET=TH 651 726 735 1,461
ZFEETMTH 353 432 419 851
1% BRHET 369 479 501 980
T SHET 195 285 307 592
= Hh BT 176 232 211 443
FaEHT 702 995 998 1,993
ey 285 338 342 680
\WEBT—TH 1,010 1,177 1,164 2,341
\WFRT=TH 526 617 660 1,277
rh N ET 270 431 415 846
REMT 547 776 816 1,592
[LEEET—T B 913 942 1,056 1,998
[LEERT =T B 1,598 1,597 1,866 3,463
[LERT=TB 1,366 1,273 1,548 2,821
T (ENIR#X) 11,123 12,768 13,654 26,422
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2N HHET 301 388 391 779
18 FHT 192 289 282 571
& EHT 541 743 803 1,546
EEJCRRET 298 370 385 755
HrYEHT 550 910 939 1,849
T FAT R ET 121 163 195 358
JIALET 254 328 352 680
8 FLHT 57 86 79 165
EHLET 109 138 146 284
TJIET 776 893 933 1,826
FHCFNIRHTRX) 3,199 4,308 4,505 8,813
R R ET 361 484 527 1,011
/)N s R ET 197 281 274 555
i SUHT 227 284 296 580
FHET 392 488 521 1,009
S ERET 612 792 876 1,668
INR BT 662 910 925 1,835
FaHT 313 425 422 847
& A HT 209 208 231 439
={EEs—TH 314 353 380 733
=SB =TH 611 680 733 1,413
FTCREMX) 3,898 4,905 5,185 10,090
={RET—TH 728 773 836 1,609
=RETZTH 534 561 620 1,181
=RET=TH 670 715 795 1,510
SEIRAT 573 631 619 1,250
& ET 290 410 400 810
T RET 505 560 602 1,162
BAABRE—TH 407 482 481 963
AARBEETZTH 936 933 1,072 2,005
BAARBRET=TH 514 595 542 1,137
mAABEETETE 500 533 467 1,000
BAARBEETRTH 555 591 592 1,183
R EHET 677 859 880 1,739
| SRET 1,916 2,355 2,460 4,815
A EAHT 98 124 134 258
& RHET 670 718 850 1,568
SR EHET 467 600 624 1,224
£ 2 T BT 330 409 455 864
1R HET 614 885 953 1,838
T ARHET 1,210 1,369 1,447 2,816
F(EEHRX) 12,194 14,103 14,829 28,932
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#5 HET 2,251 2,798 2,953 5,751
% ZRHET 243 323 339 662
il F5 E ET 589 729 694 1,423
AIFEEHBTZ=TH 166 222 245 467
JI g ET 893 1,002 1,033 2,035
FiE 1e7 i HH T 552 653 732 1,385
T $T HET 1,462 1,806 1,941 3,747
| FrERET 1,404 1,667 1,729 3,396
INE K HT 988 1,089 1,021 2,110
INBARET—TH 151 148 173 321
=il 563 550 520 1,070
e —TH 665 665 685 1,350
ST HET 944 1,115 1,105 2,220
EIR ASEHT 115 132 131 263
SthS AT 334 366 368 734
KXFRET—TH 649 702 800 1,502
AFIRETZTH 586 643 731 1,374
HTRTFEHET 355 313 351 664
= ) 218 279 294 573
S (ERX) 13,128 15,202 15,845 31,047
TUHAFLET 3,353 3,693 3,656 7,349
Tttt ET—TH 421 467 511 978
TTHET=TH 484 484 526 1,010
TTHET=TH 53 60 63 123
KERET—TH 216 215 210 425
KKRETZTE 594 616 602 1,218
KERET=TH 324 348 345 693
KERT—TBHE 278 273 292 565
KEBIZTH 2 1 1 2
AEHET 34 31 40 71
HERET—TH 170 185 199 384
AREIZTE 181 167 199 366
AEREI=TH 153 161 152 313
ARETETHE 223 233 227 460
HERETRTH 247 232 302 534
B IHT 619 665 483 1,148
THREH 418 423 443 866
MEET—T B 62 39 48 87
BMEET=TH 286 234 242 476
AT (T#atthX) 8,118 8,527 8,541 17,068
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BT #t 2,031 2,333 2,323 4,656
HHEr—TH 24 23 23 46
WHETZTH 337 340 322 662
HWHET=TH 249 273 285 558
BHETETH 143 174 159 333
T ETHE B 1,372 1,642 1,713 3,355
KBTS H 332 347 373 720
=HET—TH 509 584 582 1,166
BTN R 384 486 489 975
At (FattihX) 5,381 6,202 6,269 12,471
M FHET 1,065 1,334 1,375 2,709
T F T 1,745 2,136 2,231 4,367
e BET 1,296 1,492 1,622 3,114
T/NHET—TH 441 431 461 892
T/INHETZTH 972 936 918 1,854
T/NHET=TH 451 425 452 877
E/NHET—TH 566 635 635 1,270
F/NHETZTH 668 658 710 1,368
ENEET=TH 686 724 746 1,470
BETRL P ET 749 840 825 1,665
& HET 2,043 2,384 2,451 4,835
ik il 890 890 996 1,886
FRET—TH 562 659 686 1,345
RHKET=TH 626 697 700 1,397
RKET=TH 210 228 241 469
FHMETET B 177 208 187 395
B & <F HT 209 251 279 530
J1 i ET 40 56 56 112
H O &7 878 1,033 1,128 2,161
R 4R ET 257 267 285 552
FA{RET—T B 190 244 263 507
FiRET=TH 421 530 531 1,061
BAiRET=T B 505 555 548 1,103
JUI R ET 130 124 150 274
NIRET—THB 475 568 622 1,190
NERET=TE 367 463 487 950
A A& T 754 686 949 1,635
it (Pt X) 17,373 19,454 20,534 39,988
th i AT 230 321 328 649
EERFHET 169 239 239 478
HELTHT 799 974 1,081 2,055
B ETHT 201 240 257 497
FCEEHK) 1,399 1,774 1,905 3,679
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KIIKSHET 1,188 1,311 1,324 2,635
XINKSHT—TH 462 484 539 1,023
XINKSETZTH 412 434 475 909
XINKEBET=THE 812 870 855 1,725
+XREHT 733 946 993 1,939
= ZET 200 262 269 531
L+ REET 257 307 332 639
B EPHET 121 141 142 283
Eadesliiy) 433 548 550 1,098
T RBEET 216 312 308 620
/N T 143 201 195 396
Erfis BT 2,907 3,466 3,592 7,058
T KBHT 1,234 1,459 1,555 3,014
&t Gk BAHEX) 9,118 10,741 11,129 21,870
TREHET 213 297 298 595
SRIRHET 287 416 395 811
= HET 684 978 969 1,947
FTOHT 361 510 524 1,034
TR THT 506 723 746 1,469
oK =HT 515 680 690 1,370
RKZEMT 255 332 327 659
B+ FET 254 366 358 724
HTHHET 96 137 143 280
ZZ = 1,002 1,398 1,370 2,768
S FHET 244 367 338 705
S FHHET 381 543 551 1,094
INE JRET 612 796 803 1,599
& HET 545 629 666 1,295
T EET 333 448 462 910
EENRET 561 747 774 1,521
AT Gt X) 6,849 9,367 9414 18,781
K HAET 652 730 843 1,573
N 1,405 1,845 1,829 3,674
Y R ET 1,507 2,011 2,023 4,034
&R ET 454 652 606 1,258
FETERT 540 777 801 1,578
RE AT 170 191 226 417
3] [ T 521 713 747 1,460
A R T 1,163 1,489 1,629 3,118
+EREMET 421 562 518 1,080
FH(R#AX) 6,833 8,970 9,222 18,192
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SERHE 905 1,325 1,369 2,694
HEHT 585 795 837 1,632
T 2 EAHT 240 364 355 719
=TRRHET 100 114 116 230
wy ST 367 560 596 1,156
B 15T 164 266 249 515
KATHET 481 674 693 1,367
T (EHEHX) 2,842 4,098 4215 8,313
FRINET R 2R 105 110 107 217
FHNIETZER 189 269 271 540
FAJIET A H 401 563 595 1,158
FHIETFEER 137 200 188 388
BT ETE 410 571 573 1,144
FHNIETAR R 628 844 822 1,666
FHBTRE 579 874 869 1,743
)BT 23 709 1,050 1,030 2,080
FH)IETFE T 190 229 263 492
FIETRIE R 53 71 76 147
FH)IBT EEREE 55 90 93 183
FIET FRE®E 43 74 75 149
FANIBT—HaTH 33 64 51 115
81 BTeh 140 200 195 395
)1 BTRE 289 406 388 794
S CGRNHEX) 3,961 5615 5,596 11,211
ETRETHS 334 439 438 877
ELTRETSIH 88 121 106 227
ETRETHEE 294 447 457 904
=T RETRZHE 1,436 1,976 1,922 3,898
E T RET/NR 391 523 549 1,072
=+ RETKEF 332 513 549 1,062
=+ RETEFR 1,899 2,701 2,656 5,357
ETRE/NE 1,705 2,369 2,391 4,760
ELRETAH 948 1,367 1,365 2,732
ELTRETRE 111 169 170 339
ETRETHZAKE 86 130 127 257
ELRETLO 79 107 111 218
ETRETEIR 200 304 296 600
=+ RETIRELL 318 371 359 730
FHELTRBX) 8,221 11,537 11,496 23,033
& &t 141,724 166,175 173,948 340,123




